



VANDEVI SKILLS INSTITUTE OF EDUCATION & TECHNOLOGY

www.vdsmcedu.com

PROSPECTUS

APPROVED BY GOVT. OF INDIA



GOVERNMENT OF INDIA MINISTRY OF CORPORATE AFFAIRS

Central Registration Centre

Certificate of Incorporation

[Pursuant to sub-section (2) of section 7 and sub-section (1) of section 8 of the Companies Act, 2013 (18 of 2013) and rule 18 of the Companies (Incorporation) Rules, 2014]

I hereby certify that VAMDEVI SKILLS MANTRA COUNCIL is incorporated on this TWENTY EIGHTH day of MARCH TWO THOUSAND TWENTY THREE under the Companies Act, 2013 (18 of 2013) and that the company is Company limited by shares

The Corporate Identity Number of the company is U85499HR2023NPL110284

The Permanent Account Number (PAN) of the company is AAJCV2886M*

The Tax Deduction and Collection Account Number (TAN) of the company is RTKV09704C*

Given under my hand at Manesar this TWENTY EIGHTH day of MARCH TWO THOUSAND TWENTY THREE



Rajender Kumar

Ħ

1

Assistant Registrar of Companies/ Deputy Registrar of Companies/ Registrar of Companies

For and on behalf of the Jurisdictional Registrar of Companies

Registrar of Companies

Central Registration Centre

Licence under section 8(1) of the Companies Act, 2013

[Pursuant to rule 20 the Companies (Incorporation) Rules, 2014]

Disclaimer: This certificate only evidences incorporation of the company on the basis of documents and declarations of the applicant(s). This certificate is neither a license nor permission to conduct business or solicit deposits or funds from public. Permission of sector regulator is necessary wherever required. Registration status and other details of the company can be verified on mca.gov.in

Mailing Address as per record available in Registrar of Companies office:

VAMDEVI SKILLS MANTRA COUNCIL

C/o Rajesh Mittal, C/o Rajesh Mittal, Uklana Mandi, Hisar, Hisar-125113, Haryana

as issued by Income tax Department

Section 8 Licence Number 142296

WHEREAS it has been proved to my satisfaction that VAMDEVI SKILLS MANTRA COUNCIL, a person or an association of persons to be registered as a company under the Companies Act, 2013, for promoting objects of the nature specified in clause (a) of sub-section (1) of section 8 of the said Act, and that it intends to apply its surplus, if any, or other income and property in promoting its objects and to prohibit the payment of any dividend to its members;

NOW, THEREFORE, in exercise of the powers conferred by section 8 of the said Act, I, the Registrar at CRC Manesar, hereby grant, this license, directing that the said person or association or persons be registered as a company with limited liability without the addition of the word "Limited", or as the case may be, the words "Private Limited" to its name, subject to the following conditions namely :

 that the said company shall in all respects be subject to and governedby the conditions and provisions contained in its memorandum of association;

(2) that the profits, if any or other income and property of the said company, whensoever derived, shall be applied solely for the promotion of the objects as set forth in its memorandum of association and that no portion thereof shall be paid or transferred, directly or indirectly, by way of dividend, bonus or otherwise by way of profit to persons who at any time are or have been members of the said company or to any of them or to any person claiming through any one or more of them;

(3) that no remuneration or other benefit in money or money's worth shall be given by the company to any of its members except payment of out-of-pocket expenses, reasonable and proper interest on money lent, or reasonable and proper rent on premises let to the company;

(5) that nothing in this clause shall prevent the payment by the company in good faith of prudent remuneration to any of its officers or servants (not being members) or to any other person (not being member), in return for any services actually rendered to the company

(6) that nothing in clauses (3) and (4) shall prevent the payment by the company in good faith, of prudent remuneration to any of its members in return for any services (not being services of a kind which are required to be rendered by a member), actually rendered to the company;

(7) that no alteration shall be made to the memorandum of association or in the articles of association of the company, which are for the time being in force, unless the alteration has been previously submitted to and approved by the Registrar;

(8) The Company can be amalgamated only with another company registered under section 8 of the Act & having similar objects; and

(9) that, without prejudice to action under any other law for the time being in force, this licence shall be liable to be revoked, if the company:

(a) contravenes any of the requirements of section 8 of the Act or the rules made thereunder or any of the conditions subject to which a licence is issued;

(b) if the affairs of the company are conducted fraudulently or in a manner violative of the objects of the company or prejudicial to public interest.

> Document certified by DS MINISTRY OF CORPORATE AFFAIRS 10 scrc@mca.gov.in>.

Digitally signed by DS MINISTRY OF CORPORATE AFFAIRS 10 Date: 2023.04.04 21:54:41 IST

Rajender Kumar

Assistant Registrar of Companies/ Deputy Registrar of Companies/ Registrar of Companies

Registrar of Companies

Central Registration Centre

Dated this 28/03/2023



Scanned with OKEN Scanner

गणेश आरती

जय गणेश जय गणेश, जय गणेश देवा। माता जाकी पार्वती पिता महादेवा !! एक दंत दयावंत, चार भुजा धारी। माथे सिंदूर सोहे मूसे की सवारी !!

जय गणेश जय गणेश, जय गणेश देवा। माता जाकी पार्वती पिता महादेवा !! पान चढ़े फल चढ़े, और चढ़े मेवा। लड्डअन का भोग लगे संत करें सेवा !!

जय गणेश जय गणेश, जय गणेश देवा। माता जाकी पार्वती पिता महादेवा !!

अंधान को आंख देत, कोढ़िन को काया। बांझन को पुत्र देत निर्धान को माया !!

जय गणेश जय गणेश, जय गणेश देवा। माता जाकी पार्वती पिता महादेवा !!

श्सूरश् श्याम शरण आए, सफल कीजे सेवा।

सरस्वती वदना

हे विद्या की देवी सरस्वती मैया हम पर उपकार करो विद्या का दान हमें देकर मैया हमरा उद्धार करो

माँ हमको भी बुद्धि दे दो मन को हमारे शुद्धि दे दो करती हो माँ काहे देरी समझो मैया विपदा मेरी सुन लो माता विनती हमारी आ जाओ कर हंस सवारी हम हैं माँ मूरख अज्ञानी हम तो तुम्हरी पूजा न जानी फिर भी हैं हम लाल आपके विनती मेरी स्वीकार करो

माँ हर युग में सदा आपकी जय जयकार हुई है सारा ब्रह्मांड है माँ तुमसे ए वेद पुराण सभी हैं माँ तुम्हरे बिन ब्रह्म देव भी भाग्य नहीं लिख पाते बिना आपके कुम्भकर्ण को निन्द्राशन कैसे दिलाते माँ बसो मेरे अन्तर्मन में मुझ में भी चमत्कार करो

माता जाकी पार्वती पिता महादेवा !!

जय गणेश जय गणेश, जय गणेश देवा। माता जाकी पार्वती पिता महादेवा !

दीनन की लाज रखो, शंभु सुतकारी | कामना को पूर्ण करो जाऊ बलिहारी !!

जय गणेश जय गणेश, जय गणेश देवा। माता जाकी पार्वती पिता महादेवा !!

हे वीणा वादिनी शारदे माँ वीणा की तान सुना दीजै उलझ गया संसार में हूँ मुझमें मुस्कान माँ ला दीजै हर रात चाँदनी हो मेरी हर दिन को माँ त्यौहार करो

माँ है अथाह संसार का सागर क्या खोया क्या मैंने पाकर कृपा करो माँ अगर आप तो हो जीवन धन्य धरा पर आकर मानुष जनम मिला कृपा से नहीं जाना है इसे व्यर्थ गँवा कर माँ बीच भँवर में फँसी है नैया हमरी नैया पार करो

2

फेल छात्र/छात्राएं पास हों इसी वर्ष The Board of Open Schooling and Skill Education



Secondary 10th & Senior Secondary 12th

(Art, Science & Commerce)

Equivalent of CBSE, NIOS & All State Govt. Board Valid for Govt. Job Valid for

Higher Education





Scanned with OKEN Scanner

CHAIRMAN MESSAGE



Today we live in a challenging world filled with technology and economical innovations. Education imparted in academic institutions is an effective tool to enable students to cope with the rapidly, changing world around them with knowledge and values they imbibe a culmination of which will certainly bring forth worthy human beings and leaders of tomorrow.

The power of education extends beyond the development of skills we need for economic success. It contributes to nation building and reconciliation. Our own reconstruction, development and successful interaction in the global fraternity depend largely on the progress we make, in educating our children. Education is central to the success of a whole range of other humanendeavours and enable young people to become adults who cherishe the values of respect for women and children.

4

MANPHOOL SINGH

B.A. Stanography Eng. (Retd. Ex. Asst. Registrar, MDU Rohtak)



DIRECTOR'S MESSAGE



VINOD SINGLA M.Com

Dear students,

Today, I want to talk to you about the power of perseverance. Life is not always smooth sailing; it's more like a roller coaster with its ups and downs. But remember, it's the bumps and twists that make the ride exciting and memorable.

When you face challenges or setbacks, it's easy to feel discouraged. However, it's during these tough times that your true strength shines through. It's the moments when you refuse to give up that define your character and set the stage for your success.

Dear students,

In a world that's constantly evolving, embracing change and innovation is essential for success. Change may seem intimidating, but it's also the source of growth and progress.

Imagine a world where nothing ever changed – it would be stagnant and unexciting. But change brings new opportunities, experiences, and discoveries. It's a chance to break free from the ordinary and explore the extraordinary.

As students, you have the unique advantage of being naturally curious and adaptable. Use these qualities to your advantage. Embrace change as a chance to learn and innovate. Be open to new ideas and experiences.

5



SUNDER SINGH M.A. (Pol Sci.)

LEGAL ADVISOR MESSAGE

Dear students,

The only reason why humans have become more civil towards each other is that of the law that defends the weak and restrains the mighty and powerful. Otherwise, the world would be a jungle. Only the brave and vigorous would have survived.

To enforce laws and maintain a just society, the judicial system has become an important part of our lives. Every year, universities across the world enroll thousands of law students to act as custodians of the law. They are the people who know the constitution. They are so eloquent in their speech and behavior that they can help a person get away with murder. Even though we have been taught that crime does not pay, the lawyers and attorneys know otherwise. Without crime, law business goes bankrupt.

When you face challenges or setbacks, it's easy to feel discouraged. However, it's during these tough times that your true strength shines through. It's the moments when you refuse to give up that define your character and set the stage for your success.

6



MEERA MITTAL (Bcom, LLB) Legal Advisor



FEE STRUCTURE BAGHELOR DEGREE



Sr. No.

Course

Elegibility

Duraction

Fee Per Semester Total

1.	B.A. (English, Hindi, Punjabi, Sanskrit, Political Science, History, Economics, Psychology, Geography, Urdu, Yoga, Music)	12th	3 Years (6 Semester)	15000	90000
2.	BBA	12th	3 Years (6 Semester)	20000	120000
3.	B.Com	12th	3 Years (6 Semester)	17000	102000
4.	B.Sc Medical, Non Medical Home Science, Geology, Statistics	12th Science	3 Years (6 Semester)	18000	108000
5.	B.Sc (Hons)- Microbiology	12th Science	3 Years (6 Semester)	22500	135000
6.	B.Sc Food Technology & Forensic Science	12th Science	3 Years (6 Semester)	32500	195000
7.	B.Lib.	Gradutaion	1 Years (2 Semester)	24750	49500
		(8			

SCHOOL OF SHENCE

The School of Health Sciences and technology nurtures a culture of research and education through experiential learning that prepares students for tomorrow. Besides classroom teaching, students are given clinical and community exposure so that they become active change-makers and solution providers for the healthcare sector. The industry-aligned curriculum taught by faculty who are specialists in their respective fields along with active collaborations with industry leaders enables students to develop professional competencies required to address the world's health challenges. NILM School of Health Science offers a plethora of undergraduate, postgraduate programs in health sciences. The program combines classroom teaching with practical training to enable students to develop a better insight and understanding of the medical profession. Explore the course below to find the best degree program for you.

9

Sr. No.	Course	Elegibility	Duraction	Fee Per Semester	Total
1.	Masters in Hospital Administration (MHA)	Gradutaion	2 Years (4 Semester)	35000	140000
2.	Masters in Public Health (MPH)	BPH	2 Years (4 Semester)	40000	160000
3.	M.ScRadioltherapy, Radiology & Imaging Technology, OT & Anesthesia Technology, Optometry, Medical Lab Technology, Emergency & Critical Care, Cardiovascular Technology, Dialysis Therapy, Dental Assistant, Physicina Assistant	Gradutaion with Relevant stream	2 Years (4 Semester)	35000	140000
4.	B.ScRadioltherapy, Radiology & Imaging Technology, OT & Anesthesia Technology, Optometry, Medical Lab Technology, Emergency & Critical Care, Cardiovascular Technology, Dialysis Therapy, Dental Assistant, Respiratory Therapy Technology, CSSD (Central Sterlization Supplying Department), Physicina Assistant	12th Science	3+1 Years (8 Semester)	32500	260000
5.	B.Sc.(LEET)-Radioltherapy, Radiology & Imaging Technology, OT & Anesthesia Technology, Optometry, Medical Lab Technology, Emergency & Critical Care, Cardiovascular Technology, Dialysis Therapy, Dental Assistant, Respiratory Therapy Technology, CSSD (Central Sterlization Supplying Department), Physicina Assistant	Diploma in Relevant stream	2 Years (4 Semester)	32500	130000
6.	B.Sc- Public Health (BPH), Nutrition & Dietitics	12th Science	3+1 Years (8 Semester)	32500	260000
7.	Post Graduate Diploma in Yoga	Gradutaion with Relevant stream	1 Years (2 Semester)	19500	39000
8.	Diploma- Radioltherapy, Radiology & Imaging Technology, OT & Anesthesia Technology, Optometry, MLT, Critical Care Technology, Cardiovascular Technology, Dialysis Therapy, Dental Assistant, X-Ray Technician Medical Dresser	12th Science	2 Years (4 Semester)	18500	74000
9.	Diploma- Radioltherapy, Radiology & Imaging Technology, OT & Anesthesia Technology, Optometry, MLT, Critical Care Technology, Cardiovascular Technology, Dialysis Therapy, Dental Assistant, X-Ray Technician Medical Dresser	10th	3 Years (6 Semester)	18500	110000
10.	Diploma in Ayurveda Pharmacy	12th Science	2 Years (4 Semester)	15000	60000
11.	Diploma in Health and Sanitary Inspector	10th	1 Years (2 Semester)	20000	40000
12.	DHA	10th	3 Years (6 Semester)	18500	111000
13.	Diploma in Panchkarma	12th Science	2 Years (4 Semester)	20000	80000
14.	Diploma in Yoga	12th	2 Years (4 Semester)	15000	60000
15.	MPHW	10th	2 Years (4 Semester)	20000	80000
16.	VLDA	12th Science	2 Years (4 Semester)	75000	300000



SCHOOL OF PHARMACEUTICAL SCIENCES ===



Pharmacy profession demands strict adherence to a set of ethical principles, Our aim is to ensure the provision of high quality value-based education with an international focus while maintaining utmost professionalism, integrity and ethics. Our faculty best from all over the field are present here to offer their total commitment for the benefit of the student community. Pharmaceutical Science as a field is known to be highly competitive and demanding and is always on a lookout for professionals equipped with contemporary skills. In order to meet the new age demands, THE SCHOOL OF PHARMACEUTI-CAL SCIENCES is continuously upgrading the facilities and infrastructure so as to enable the faculty to tune the students to prepare themselves for the challenging opportunities available in pharmaceutical sector.

Sr. No.	Course	Elegibility	Duraction	Fee Per Semester	Total
1.	M.Sc. Pharmaceutical Sciences	B. Pharmacy	2 Years (4 Semester)	25000	100000
2.	B. Pharmacy*	12th	4 Years (8 Semester)	40000	320000
3.	B. Pharmacy (LEET)*	D. Pharmacy	3 Years (6 Semester)	40000	240000
4.	D. Pharmacy*	12th	2 Years (4 Semester)	55000	220000
		(1	1)		

SCHOOL OF AGRICUTURE



The School of Agriculture, at NIILM, strives for a flagship role in turning the rural un employed youth to first rate agricultural entrepreneurs and Agri-Business managers of tomorrow, The impact of agricultural education will soon be discernible in development of new breeds of enterpreneurs, increased employment opportunities, higher earnings and better work environment. There are tremendous career opportunities in Agricultural services at national level through Agricultural Scientist Recruitment Board (ASRB). Provincial Agricultural Services (PAS) through State Public Service Commission as District Agriculture Officer (DAO), Soil Conservation Officer (SCO) District Horticulture Officer (DHO), Plant Protection Officer 101 (PPO), Extension Officer and other subordinate services. Besides, there is an ample scope in this field of Agriculture especially-Fertilizer, Agro-chemical, Bio pesticide, Post Harvest Technology, Rural industries and Research & Development and Banking Sectors.

Sr. No.	Course	Elegibility	Duraction	Fee Per Semester	Total
1.	Ph.D-Agriculture	M.Sc. Agriculture	3 Years		355000
2.	M.ScAgriculture (Agronomy)	Gradution with Relevant Stream	2 Years (4 Semester)	35000	140000
3.	B.Sc. (Hons.) Agriculture	12th Science	4 Years (8 Semester)	37250	298000
4.	B.ScDairy Tech, Forestry, Fisheries, Horticulture	12th Science	4 Years (8 Semester)	32500	260000
5.	Diploma in Agriculture	10th	1 Years (2 Semester)	20000	40000
		(1:		2) AU	

school of PERFORMING Fine Arts

Ever been fascinated by the art showcased in galleries or impressed by the architecture of a building? Well, there are people out there who work to make beautiful pieces of art in the form of sculpture, music, drama, painting, film, architecture and a lot more. If you too are a budding artist who wishes to create a mark for yourself in the industry, a career in Arts (Fine/Performing) is most apt for you. Candidates can pursue degree, diploma or certificate Arts courses at under graduate and post graduate levels.



Sr. No.	Course	Elegibility	Duraction	Fee Per Semester	Total
1.	Master of Fine Arts (Painting, Sculpture, Graphic & Applied)	Gradution with Relevant Stream	2 Years (4 Semester)	22000	88000
2.	Bachelors of Fine Arts (BFA)	12th	4 Years (8 Semester)	19500	156000

SCHOOL OF LEGAL STUDIES



NILM University School of Law and Legal Studies aspires to open new vistas in the arena of law, legal studies, theoretical and clinical legal education through an incessant endeavour towards developing academic potential, critical analytical ability, advocacy, counselling and mediation skills so as to fully equip the students with learning which is intellectually stimulating, socially vital and professionally enriching. The approach of the law school is to develop a positive attitude in students and make them realize that the lawyers are an integral part of the system of adjudication, determination of policies and setting up of standards for regulation of various activities.

Sr. No.	Course	Elegibility	Duraction	Fee Per Semester	Total
1.	Ph.D LAW	LL.M	3 Years		355000
2.	LL.M	LL.B	2 Years (4 Semester)	37500	150000
3.	LL.B	Graduation	3 Years (6 Semester)	25000	150000
4.	B.A. LL.B	12th	5 Years (10 Semester)	24500	245000
5.	Post Graduate Diploma, Cyber Law, Labour Law, Forensic Science, Business Law, Corporate Law, Anti Human Law, Human Right, Intellectual Property Law, Consumer Law & Protection, Criminology	Graduation	1 Years (2 Semester)	50000	100000
6.	Diploma, Cyber Law, Labour Law, Forensic Science, Business Law, Corporate Law, Anti Human Law, Human Right, Intellectual Property Law, Consumer Law & Protection, Criminology	12th	1 Years (2 Semester) 50000		100000



SCHOOL OF COMPUTER SCIENCE



Sr. No.	Course	Elegibility	Duraction	Fee Per Semester	Total
1.	M.ScComputer Science, IT, Textile Design	Gradutaion	2 Years (4 Semester)	22500	90000
2.	MCA	BCA/PGDCA	2 Years (4 Semester)	30000	120000
3.	MCA (LEET)	M.Sc IT, CS	S 1 Years (2 Semester) 30000		60000
4.	BCA	12th	3 Years (6 Semester)	18000	108000
5.	B.ScComputer Science, IT, Textile Design	12th	3 Years (6 Semester)	18000	108000
6.	PGDCA	Graduation	1 Years (2 Semester)	20000	40000
7.	DCA	10th	1 Years (2 Semester) 20000		40000
8.	Certificate Course in Comuter Fundamentals, Digital Marketing, Website Designing, Graphic Designing,	10th	1/2 Years		20000



FEE STRUCTURE MASTER'S DEGREE



Course	Elegibility	Duraction	Fee Per Semester	Total
M.A English, Hindi, Punjabi, Social Work, Sanskrit, Yoga, Sociology, Political Science, History, Physical Education, Health Education and Sports, Economics, Psychology, Geography, Music, Urdu	Gradutaion	2 Years (4 Semester)	24750	99000
M.Com	Gradution with Relevant Stream	2 Years (4 Semester)	24750	99000
MBA (Marketing, Finance, HR, IB Insurance)	Gradution	2 Years (4 Semester)	35000	140000
M.Sc. Physics, Chemistry, Math, Botany, Statistics, Geology, Home Science, Zoology, Microbiology, Biochemistry, Biotechnology, Forensic Science, Environment Science, Food Technology	Gradution with Relevant Stream	2 Years (4 Semester)	29750	119000
	M.A English, Hindi, Punjabi, Social Work, Sanskrit, Yoga, Sociology, Political Science, History, Physical Education, Health Education and Sports, Economics, Psychology, Geography, Music, Urdu M.Com MBA (Marketing, Finance, HR, IB Insurance) M.Sc. Physics, Chemistry, Math, Botany, Statistics, Geology, Home Science, Zoology, Microbiology, Biochemistry, Biotechnology, Forensic Science, Environment	M.A English, Hindi, Punjabi, Social Work, Sanskrit, Yoga, Sociology, Political Science, History, Physical Education, Health Education and Sports, Economics, Psychology, Geography, Music, UrduGradutaionM.ComGradution with Relevant StreamMBA (Marketing, Finance, HR, IB Insurance)GradutionM.Sc. Physics, Chemistry, Math, Botany, Statistics, Geology, Home Science, Zoology, Microbiology, Biochemistry, Biotechnology, Forensic Science, EnvironmentGradution with Relevant Stream	M.A English, Hindi, Punjabi, Social Work, Sanskrit, Yoga, Sociology, Political Science, History, Physical Education, Health Education and Sports, Economics, Psychology, Geography, Music, UrduGradutaion2 Years (4 Semester)M.ComGradution with Relevant Stream2 Years (4 Semester)MBA (Marketing, Finance, HR, IB Insurance)Gradution Gradution2 Years (4 Semester)M.Sc. Physics, Chemistry, Math, Botany, Statistics, Geology, Microbiology, Biochemistry, Biotechnology, Forensic Science, EnvironmentGradution with Relevant Stream2 Years (4 Semester)	M.A English, Hindi, Punjabi, Social Work, Sanskrit, Yoga, Sociology, Political Science, History, Physical Education, Health Education and Sports, Economics, Psychology,

FEE STRUCTURE HEALTH SCIENCES



Sr. No.	Course	Elegibility	Duraction	Fee Per Semester	Total
1.	Diploma in Panchkarma :	12th Science	2 Years (4 Semester)	20000	80000
2.	Diploma in Yoga	12th	2 Years (4 Semester)	15000	60000
3.	Post Graduate Diploma in Yoga	Gradution with Relevent Stream	1 Years (2 Semester)	19500	39000
4	MPHW	10th	2 Years (4 Semester)	20000	80000
		(1	7	1	

SEE STRUCTURE DOCTOR OF PHILOSOPHY



Sr. No.	Course	Elegibility	Duraction	Total
1.	Ph.D-Computer Science & Application	Maters in Relevant Stream	3 Years	355000
2.	Ph.D- Hindi, English, History, Geography, Sociology, Education, Sanskrit, Public Administration, Psychology, Clinical Psychology, Punjabi, EVS, Library & Information Science, Philosophy, Social Work, Music, Yoga	Maters in Relevant Stream	3 Years	355000
3.	Ph.D- Physics, Chemistry, Botany, Zology, Mathematics, Statistics, Nutrition and Dietetics, Biotechnology, Biochemistry, Forensic Science, Home Science Microbiology	Maters in Relevant Stream	3 Years	355000
4.	Ph.D- Physical Education	Maters in Relevant Stream	3 Years	355000
·		(18)		

FEE STRUCTURE PARAMEDICAL COURSES



Sr. No.	Course	Elegibility	Duraction	Total
1.	B.E.M.S. Bachelor of Electro-homeopathy Medicine and Surgery	12th	4.6 Years	50000
2.	M.D.E.H. (Doctor of Medicine In Electro Homoeopathy)	12th	2 Years	30000
3.	CMS & ED (Community Medical Service & Essential Drugs)	10th	18 Months	20000
4.	CMD (Certificate Medical in Dresser)	12th	1 Year	15000
5.	EMT (Emergency Medical Technician)	12th	1 Year	15000
6.	Panchkarma Technician	12th	1 Year	20000
7.	GDA (General Duty Assistant)	10th (19)	1 Year	15000





Solution Solution<

